
Time: 10 Minutes Paper Math 8 (T-2) Total Marks: 10

3rd Month, 2nd Week, 2nd Day Review Exercise  Q. (1b) (1, 2, 3)

Q.1. Choose the correct options.   (1 × 4 = 4)  
(i) A set consisting of all subsets of the set A is called:

 A 

(a) Subset  (b) Universal set  (c) Power set  (d) superset 

(ii) If U = {1, 2, 3, ....., 10} and A = {2, 4, 6, ......, 10} and B = {1, 2, 3,.....,9}

then (A–B)c is equal to:

 (A–B)c  B = {1, 2, 3,.....,9}  A = {2, 4, 6, ......, 10}  U = {1, 2, 3, ....., 10} 

(a) U (b) B (c) A (d)

(iii) If P(A) = ( , {a}, {b}}, then set A is equal to:

 A  P(A) = ( , {a}, {b}} 

(a) (b) {a} (c) {b} (d) {a, b}

(iv) Proportion means: 

(a) Equality of two ratios   (b) Equality of quantities 

(c) Inequality of two ratios  (d) Inequality of quantities 

 Answer the following questions: (2 × 3 = 6)  
Q.1. Write all the subsets of the following sets: 

   A = {1, 2, 3, 4}        B = {a, b, c}


Q.2. Define the following: 

(i) Direct proportion  (ii) Inverse proportion 
(iii) Compound proportion  (iv) Markup 
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